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Wave-Induced Motions of Tow and Towed Ships
in Regular Seas
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Fig. 2.1: Coordinate systems of towed ship and towline
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Fig. 3.1: Side, front and rear views of tow ship model (Podded ship)

15



g3gbobobobboboobooboobooboobobbob

Fig. 3.2: Side, front and rear views of towed ship model (SR108)

Table 3.1: Principal dimensions of tow and towed ships

Tow ship Towed ship
symbol | Fullscale | Model | Fullscale | Model
L (m) 26.55 2.655 30.00 3.000
B (m) 5.23 0.523 4.35 0.435
ds (m) 1.66 0.166 1.20 0.120
dp, (m) 1.66 0.166 1.63 0.163
dg (m) 1.66 0.166 2.06 0.206
A (m?) 185.00 0.185 122.00 0.122

Cy 0.799 0.799 0.572 0.572
zg (m) -0.67 -0.067 -1.41 -0.141
kyy/L 0.278 0.239
Dp (m) 0.80 0.080 - —

P 0.8 0.8 — —
Hp (m) — — 1.32 0.132
Bpg (m) — — 0.72 0.072
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Fig. 3.4: Actual condition of the experiment
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Fig. 3.5: Coefficients of added resistance O Fig. 3.6: Coeflicients of added resistance in
in waves for tow ship (Podded ship) waves for towed ship (SR108)

Table 3.2: Coeflicients used in the calculations

Podded propeller | Towline (lumped masses)
symbol ‘ value symbol ‘ value
Jo 0.309 Cp, 1.00
J1 -0.315 Cr, 0.01
Jo -0.217 kr, 1.00
tp 0.100 p (air) 0.12 kg/m3
wpo 0.150 | p (water) | 101.97 kg/m?
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Fig. 3.7: Influence of division number of towline on the calculation (\/Ly=1.2)
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Fig. 3.8: Comparison of time histories of motions and tension (\/L2=1.0)
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Fig. 3.10: Comparison of motion amplitudes of tow and towed ships in regular waves
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Fig. 4.1: Coordinate systems
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= Re {—fPZ(t) exp [—v {z; — ix;cos(x — ¥;) — iy sin(x — ¥;)} + iwt]} (4.2)
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Wei = WV (X, cosy + Y;sin X) (4.7)

4.1.2 0O0O0O0OOOOOOOOO0

O00000000000000000000000O000 Horizontal Body Axes(HBA)
O 250 — 2y, 00000000000 o—ay2, 000000, o —2lylz 000,
002y, 000000000, 00000000000000000O0O0OCOODOO
gog,gopoobbobbbbbbobbbboobooboobboooo,guoobn
goboboooguobbobooooobobuooooo,bogubbooooobb
guoooobbobbbboooooodad

HBAOOOOOOOOOOOOOOU,V,, W, 000000 ¢;,6;,¢%;00006;0
O000DO0O0HBAOODOOODOOO 6000000000 (250000000000
0D0000000,00000000000000000000000000

\

mz<U1 — VQ%) = Fu+ Xp
mi(Vi+ Unhi) = Fyi+ Ve
szz ' = F.+ Zp (4.8)
Lozi(i — 0inhi) = My + Koy
Iyyiéi + Ixm@% = My + Lz
L.ithi — Lyibidi = M + Ny )

000m; 000000yl .,;0000000000000000000000
00000, Xgy, Yo, Zri, Ky, Ly, N 000 0000000000000000, O
0000000000 7,0000,00000000000
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0 Xr1 = —Tscosb;cos(v, — 1)
Yri = —Tscosbsin(y; — ;)
Zr = Tgsinb, (4.9)
Kry = —luTssinb, —£,1Ts cos 0 sin(y, — 1)
Ly = {1 Tssinb; + £,1Ts cos b, cos(1hy — 1)
Nri = UnTgcosbysin(y — 1) — L1 Ts cos by cos(vhy — 1) |
Xro = Tscos0;cos(iy — 1) \
Yro = Tgcosb;sin(i; — 1s)
Iy = —Tgsinb, (4.10)
Kry = —lypTssinb;, + (,5Ts cos O, sin(yy — 1)
Lro = (0Tssinby; — (.9Ts cos b, cos(vy — 1g)
Nry = LpoTs cos O sin(h, — the) — £yoT's cos Oy cos(th, — o)

/

ooo,

611 = £1COS’71COSOQ, €y1:€1COS’}/1SiHOél, €21:ZG1+£1S1H’71

612 = gQCOS’}/QCOSOéQ, ngZKQCOSrYQSiHOé27 EZQZZGQ—i-EQSiIl’}/Q
oooboo,00o0bb0oo0obob 0100000 bDbObOoooooooDbo,
b, 0000000000000 DO0ODO0O0ODO0O0ODLOOO,bOob0DbO0obOOoOoDbOo

000000000 (—2p, —yn, —2¢,)000,00000000 (27, yn, —2n,) 0O
oooooo,

61 = \/11:2111 + y%l + 3%1 N = tan_l (le/ \/ 32'52111 + y%l) ; Q1 = tan_l(y'ﬂ/le)
62 = \/.%%2 + y%Q + 2%2 2 = tan_l (ZTQ/ \/ I’%Q + y%g) ; Qo = tan_l(yTQ/zTQ)

000000, v,%»00000,Feg4l00000,00000000000000
D000000,0000000000000000F,,Fy, Fa, My, My, M,; 000
000000000000000000000,0000000000000000

4.1.3 0O00O0O0O0OO0OOOOO0O0O0O00O0

0000000,00000000000000000000000,000000
00 (U, Va,Wo)0 0000000 (U,,Vi,W1,¢,)0000000,0000000 6,
000+, 000000000+4.00000000000(@00000000000
000 pitch, ol 0000000000000 0000000000)0Fig4.1000
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0000000000000000000 (XY, %)0,0000000 (X1,%,2)
0000000000000000

Xy = X —/{1cosvycos(iy + aq) — £ cos b, coshy — Lo cosye cos(1hy + an)
Y, Y1 — {1 cosyy sin(¢y + aq) — £y cos Oy sin by, — £y cos Yo sin(vy + an) (4.11)
Zy = Z1— zZg, —lisiny; + £ sin € + Uy sinys + zg,

gg,boogooobon,

X, = X+ ¢1€1 cosyp sin(vy 4+ ) + 0,0, sin 0, cos Uy
+hl, cos B, sin 1y + oly cos Y2 sin(1g + az)
Y, = Y, — 1/}151 cosy; cos(y + aq) + 0,0, sin 6, sin Py (4.12)
—1)yly €08 0y o8 Yy — 1ol COS s cos(1y + )
Zo = Zy+ 0,0, cosb,

goboobog,bbooogbobuoogbbbooogn

X, = U, cos Y — Visiny
Y, = Usint; + Vicosth (4.13)
7= W

UQ = X2 COS’QZJQ +}./2Sin'¢]2
Vo = —X,sin Py + Y, cos (s (4.14)
Wy, = Zy

000000000,00000000 (U, Ve,W,)000000000000000,
(U1, Vi, Wi, 1,6, 0,4,) 0000000000, 0000000000000000
0000000

O000,007s00000 (4.8)0 (i=2)0000000000000OO0OO0O surge,
sway, heave 0 000000000, 0000000000

m2(U2 — Vng) = Fuo+ Tscos by cos(iy — 1) (4.15)
mg(Vg + UQ%) = Fyo+ Tscosbsin(yy — 1) (4.16)
m2W2 = FZ2 — TS sin (9t (417)

(4.15) 0 0 cos(th — ), (4.16) 0 0 sin(yy —¢) 000, 000000000,

Mo (Us — Vatha) cos(thy — ) + ma(Va + Usthy) sin(v — 1))
—Fypcos(¢r — 1hg) — Fyasin(yy — 1hg) = Tgcosf,  (4.18)
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0000000, (41700 —sinf,, (4.18)00 cos6, 000, 000000000, O
U7s0000b0oobooono

Ts = m2(U2 - V2¢2) cos 0, cos(ty — 1g) + mg(Vg + Ugl/}g) cos 0 sin (¢, — 1)9)
—myWoy sin 0, — Fyy cos 6, cos(y — 1ha) — Fyp cos by sin(hy — 1ha) + Flosin 6,
(4.19)

000, (4.15)(4.16) 000 Ts00000000000000(4.15) 00 sin(i; — ),
(4.16)00 —cos(vy —4»)000,000000000,

mz(U2 — ‘/2192) sin(y; — 1a) — mg(% + U2¢2) cos(1y — o)
= FxQ Sin('lbt — 1/12) - Fyg COS(lpt - 2/)2) (420)

0000200000000 000ooooo

ggo,bbugggbbobbodgoobbobooooobbobogooobon
00048 0000000000000 00O00LODO0O00D0D0UoooOOaO,

U17 ‘/17 Wla ¢17 917 ¢1a U27 ‘/27 W27 ¢27 027 ¢27 gtv 77ZJt7 TS

0000,0000000000000000, (UL, Ve,W,)00000,000000
0000000000000000,00000000000,000 1200000

Ula ‘/17 W17¢1791a¢17¢2792a,¢}279t7wtaT5

000,000000 (48)00000000000000000000000000
00,Ts0000000, (41900 48)0 (i=1)0000000 60000000
00 (4.8)0 (i=2) 0000 O heave, roll, pitch, yaw 0000 40000000000
000000,007s0000000000 (42000000,0 1100000000
0000000000000, 007s00000,000000000000000
00,000 (4190000000000000

4.1.4 000000000

ggbbobooogobobooooobbo,buoooobbbboooobobn
gboogood

U = U+ Up, Vi=Vy+Vy, Wiy=Wy
Oi = G+ Gin, 0i =0, Vi=i+ i (4.21)
0, = Ow+0um, Vr=vu+ Y (t=1,2)
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000/00000000000O0D0 (000000)00000000O0(1)0000
000 ADDDODODODOOODODOODODDOOOOOO0O00000000(@ODD00)
00000000 O()D00000 (00000000D0)000,0000000000d
000000000000000000000000, 64,0, 00000000000
0D000,0000,00000000000000 6,0, 6, =sin™" {(e, — 21,)/l:}
oooooooooooo,

% = O(o) when operating for Uy, Vig, di, Ve, Ve (1 = 1,2) (4.22)

gbobodobobdd,e<octubgbgu,guobobdgubobgoboobobobd
0000000000000 000000000,0000000000 we; =w+0(0)
00000000,00000000w,;0 47)DO0ODOOOOOOOOO

(421)00 (48)0 (;=1)0000,000000000000000,00000
0000 O()0000,0000000000(e?)000000000000000
(000,0000000000000000000000)0

ml(Ule - Vuﬂﬂ:w) = Foe+ Xru

my (Vi +_U1e1/)u) = Fyu+Yru
[mﬂ?le = M+ Krie
) = M.10+ Nt

(423)0000000000000000000000000000000000
(X716, Yrie, Kre, Nor) 000 0000000000000, 0000000000
0000000000000 (B, Fue, My, Moyy) 0,000 400000000
0000,000000000000000000000000000000000
000000,00000000000000000000000000000 [31)0

00,000000000000000,0()0000000D0OD0O00D00O0O0O0

(4.23)

)

mi (Ui — Viehin) = Fon + Xrun
m1(V1h + Uuﬂbm) = Fun+ Y
m1Vi{1h = Fan+ Zrin (4.24)
Low101n = Maun+ Krin
Iyy161n = Myn+ Lrin
[zzﬂﬁm = M.in + Nrig

/

000, 0—2:y 00000000000 &n,min, (0000, HBAODOODODOOO
(424)000000000000000000000000,

En = Um - Vgﬂ?ih + O(o¢)
Tin Vin + Uiethin, + O(0¢) (4.25)
Gn = Wi (1=1,2)
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0000000, (4.24)00,

\

mlélh = Fun+ X711

m17:7:1h = Fan+Yrmn

mlC}h = F.an+ Zrin (4.26)
Leiorin = Maan + Krup

Iyy1€1h = My + Lyip

Loathin = Map+ N

000000 (4.260)00000000000000000000000,0000000
0000000000000000000000 (Xrin, Yruh Zrw, Krin, Lrin, Nrin)
D0000000000000000000000000000000000000
(Fy1ns Fyiny Foan, Morn, Myip, My,) 0, 000 1,0000000000000000
000000000000,000 YO00O0O0O00000000000000000
00000000,000000000-my,20000000000000000
0000000000

000,00000000000000000000O0O0ODOO0O0O.21)00 (4.8)
O (i = 2) 0 heave, roll, pitch, yaw 0 00 000000000000,

goooog

]wmQQ:b:QK = Myo + Kro (4.27)
L0020 = M.o0 + Nrog

gogoodno
m2<gh = Foon+ Zrop,
I:vx2(?2h = Myop + Koy, (4.28)
]nyQ.Qh = My + Lran

L0, = Mon + Nrop

00000000000, (4.21)00000000000000 (42000000000
oooag,

gooood
mz(U2e - Vzé%z) Siﬂ(%z - 2/124) - m2(v21z + Uzﬂ/}%) COS<¢M - ¢24)
= Fooesin(y — ar) — Fyoe cos(y — a) (4.29)
gooood

Maop SIN(WVsr — Pag) — Mafian co8(1bre — Yay)
= Foon sin(vy — a0) — Fyon cos(Vu — o)
+(un, — Van) { Fuoe cos(Vy — ap) + Fyoesin(y — o) } (4.30)
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ggbboboug,bbbuooggbbbuoooobbbuooob

4.1.5 000000000

000000 7,00000000000000000000O0O0ODODOO(4.21)0
0((4.1900000000000,

goboodg

Tse = mo(Usy — Vagthar) cos 01y cos(thyy — thar) + ma(Vag + Uagthag) cos By sin (1 — 1hay)

— Fy00 08 O cos(Vr — ar) — Fyae cos Oy sin (e — o) (4.31)
0ooooon
Tsn = Moo oS By coS(Uyy — hag) + Mafiap c0s Brp Sin(hyy — Yag) — MaCop sin by

— Fyop €08 Oy cos (1P — ar) — Fyan €08 O sin(hye — ag) 4 Frop sin Oy
+(en — an) { Faoe cos O sin(Vyy — Pag) — Fyae cos Oy cos(1e — 1a0) }
+9th {Fxgg sin etg COS(lDtg - Qﬁy) + Fygg sin th Sin(iﬂtg — wgg)} (4.32)

000000000000, 0000000000000000000000000,
Te, T, 000000000000000

gooood
Xrie = —Tsgcos by cos(y — Vi) ]
Yrie = —Tsgcosbysin(y — i)
Zrie = Tsgsinby (4.33)
Krig = —Tso{ly18in by + L1 cos O sin(re — Y10) }
Lryy = Tso{lp1sinby 4 £.1 cos Oy cos(y —1P1e) }
Nrip = Tse{lor cos by sin(y — P1e) — Ly cos Oy cos(Pre — re)}
Xroe = Tgpcos by cos(w — 1) )
Yroe = Tspcosbysin(iy — o)
Zry = —Tsrsinby > (4.34)
Kroy = —Tse{ly2sinby — .o cos Oy sin(y — o) }
Lroye = Tsp{lyasinby — £.5cos by cos(w — o)}
Nroe = Tsg{lya cos Oy sin(wy — 1ag) — Ly oS by cos(thye — o) }
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gooood

Xr1n —T'sp, cos Oy cos (Ve — P10) + Ou T sin Oy cos(yy — 110) )
+(Ven — Y1n)Tse cos Oy sin(hy — 110)

Yrin —T'sp, cos Oy sin (e — P10) + Op Tse sin Oy sin (g — 1h10)
— (e — 1n)T'se cos Oy cos(Vyy — hre)

ZTlh TSh sin Qte + chng COS th

Krin —Tsp {y18in Oy + €1 cos Oy sin(yyy — 1) }
—01nTsp {€y1 cos Oy — L1 sin Oy sin(yye — P1g) }
— (Ve — 1n)Tsel 21 cos Oy cos(Pyy — P1g)

Lrip Tsp {lz1 5in Oy + €21 cos Oy cos(hyy — 10) }

Z1on
Krpon

Lrpan

NT2h

+0:,Tse {21 cos Oy — L1 sin Oy cos (g — Y10) }

— (e — Y1n)Tsel 21 cos Oy sin(hy — 1h10)

Tsp, { €1 €os Oy sin(thyy — Yre) — Ly1 cos Oy cos(Pe — Y1g) }

—0nTsp {€z1 510 Oy sin (g — 1P14) — Ly sin by cos(Vr — Y10) }

+(Win — 1n) Tse {1 cos Oy cos(thre — P10) + €1 cos Opesin(y — 1g)}

(4.35)
T'sp, cos Oy cos (e — hag) — Oy T sin Oy cos(tPey — hag) )
— (Ve — an)Tse cos Oy sin vy — 1hap)
T'sp, cos Oy sin(they — hag) — Oy Tse sin Oy sin(ahyy — hag)
(Ve — an)T'se cos Oy cos(Vyy — o)
—Tsp, 800y — 043,150 cOS Oy
—Tsp, {ly28in 0y — L9 cos Oy sin(yye — 1oe) }
—01nTse {ly2 cos Oy + L0 8In Oy SIn(1yy — 1Pog) } >

+(Vn — an) Tsel 22 cos Oy cos(hyy — ap)

Tsp {Lz2 5in O — €5 cOs Oy cos(PPry — 1ap) }

+0:,Ts¢ {22 cOS O + 2 50 Oy cOs(Pyy — 0) }

(Ve — Van) Tsel 2 cos Oy sin(thyy — hag)

Tsp, { L2 €08 Oyp sin(thyy — Pap) — Lyo cos Oy cos(Wye — ar)

— 0 Tsp { U2 sI0 Oy SIn (g — 1Pop) — Lyo sin Oy cos(Vry — Par) }

+(Ven — o) Tse {laa cO8 Oy cos(Vr — Par) + Lya cOs Oy sin(t — 120) }
(4.36)
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0000000000000 000000000000000000000000
0000000000 4.23)(4.27)(429)0000000000000000 (000
0)0000000000000000000000000000 (25000000
0000000000000 Fy, 00 F,, 00000000 M, 0000000
00000 M, 00000000000

Fou= —mm[:fu + myﬂ/u@@w + X1+ Xp1 + Xpi + Xy
Fyio = —mVie — mpiUipthre + Y + Yp1 + Yo + Yun

Moy = —Jpa1b1e + 2, (M1 Vie + mar Unethng) + Ky + Kpy 4+ Kgy (4.37)
Mo = —Jonthre + chmy1U1e§51e + N1+ Np1 + Ngi + Ny
Fror = —maoUsy + myz%e%z + Xpo + Xwo
Fyop = —myzvze — msz%%e + Yo + Yo (4.38)
Maop = —Jpaobor + ZGQ(myQ‘/QK + MaoUsthag) + Ko
Mo = — zz2¢2z + ZGQT%QU%@@ + N2 + Ny

D00000000000000000000000000000000 my, my,
Jwi» J.; 0000 0000000000000000000000000000O00O
X,Y,K,NOOODODDOO Hi, Pi, R, WiDl0ODOOODOODOODODO0O0OO0O0OO00OO
0000000000000000000000000000000000 [29]00
000000000000 000000000000000000000000,00
00000000000000000000,000000000000000000

0000(4.26)(4.28)(4.30)0 0 00000000000000(000000)00
D000000000000000 [2000000000000000000000

\

Fon = —Cﬁ)&'h + A(F; 1(2) cosw; — Fl(;) sin wy)

Fyih = —A(gmh - B(g Nin — 0(2 Nih — §2¢zh - Béi)@h - Céi)(bih
— A — B, + AFY cosw; — FYY sinw?)

Fan, = _Agi;’?éih - Béé)ém - C?E?Cih - A:(w,?éih - Bé?ém - Cé’g)@m
+A( cosw Fé;) sin W)

My, = —A§f4 ¢ih - 44 ¢ih - @h 42 Uzh Bziiz)ﬁih - Cfg)mh (4-39)
—Agg@ﬁih — Bﬁ’g@bm + A(F4c cosw; — F4(5) sinwy)

Myip, = _A(5i5)éih - B(i)ém - C(i)@'h - Aé?(m - Bé?éz’h - Céé)@h
+A(F cosw} — Fés sinw})

Man = —AQQw — Biwmn — Cig wm — A b — B dun

A62nm B62 Min + A( Cosw Fﬁ(z) sinwy) (1=1,2)
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0000w =wt+v(Xycosy+ Ysiny) 000000, 000000000000
gobodoooboooobooooob,buoooo,0o0ooooooooooga
Oo0o0O0O0O0O0O0OO0OO0OO0OO0O0OO0O0O0O0O0O0O0O00000 Ay, BOCy 00 j-mode
O00oo0ooouoo0 k0000000 ooooo0oboooboooooooo
F. PR, 0000000000000000000000000O00bO00000oon
goooooooboooooo,0bogoooooobooo,obpoooooogo
gooootdou, oo ouooooonoooouoooad
oo00ooooooooooooooooooooooooooooooooooon
goodooo2000do000dooogoooooooooooooonooon
O0O0ONSMOOODOOO [200000000000000000O0O0ODODODOOO

000 0 Uy, Vi, i, Xu, Y, 000000000000000000 w,000 U
0D0000000000000000000000000000A,, B,;00000
0000000000000 0000000000000000000000000
00000000000

4.1.6 O0OOOOOOOO

00000000000000000000000 (Xy,Yy)O

(4.40)

Xie = Uicosiby — Vigsiny
Yie = Upsinty+ Vigcosthy (i =1,2)

gobbobooobbbuoooobbbuooobbbuoooobbbuooooobn

Xin = (&in + Viebin) cos g — (in — Usgthin) sinyg — Yigthin

Yin = (& + Viein) sinaby + (0 — Usethan) cos g + XigWan (4.41)

00000000000(440)000000000000000000,000000
0000000000 (p,q,r) 000000 (6,6;,4;)00,0(6) 00000000
0,000000000

pi = cbw + Q‘%’h _ ‘
G = Yiesin @y + 0;p, cOS Py + Vi Sin g (4.42)
Ti = i oS Qi — O, SIN Pip + i COS Py (i=1,2)
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4.2 OO0O0OO0OOOOOOO

4.2.1 0O0O0OOOOOQOOOOOOgo

gobbuooobbboodobboobodooobbuooobbooobbooon
00000000O0oooooOo0o0oUuoooooO@.12)00oooooood

goooog

Xog = Xio+rels cosyisin(Pie + a1) + el cos Oy sin gy )
+1Dapls COS Yo sin(tep + o)

Yoo = Yi—thiels cos i cos(Pig + o) — el cos Oy cos iy (4.43)
—thaels COS Yo cos(1ey + o)

Zy = Zu=0

gobooodg

Xopn = Xyp+ tiply cosy sin(ve + o) + 01,0y Sin Oy cOs Yy )
+1punly €08 By Sin g + opls cOs Yo sin(they + rg)
Yo = Yin —thinly cosy1 cos(thig + ar) + Opnly sin Oy sin gy (4.44)
_¢th€t c0s O cOS Pyp — ¢2h£2 cos Y cos (g + az)
Zon = Zin+ Oty cos by

/

000000000000 0000000,000000000(0)0000,00000
0000(e*)00000000000000000000000O0()00000000
D000000000000000000000000000000000000000
000000000000000000000000 6,0, 6y =sin™" {(zr, —21,)/l:}
0000000000000 D00000 §, 000000000

0000 4.43)(444)000000000000000O0O0O00OOOOOOOOOO
goboobooogn

gobooodg

Xor = X+ hrels cosyrsin(ihig + ar) + Prely cos Oy sin by
+1Daels COS s sin(ep + o) + zl}fgfl cos Y1 cos(Yre + 1)
+¢?@£t cos By cos Yy + 1&%%2 COS Yo €08 (1ay + v2)

Yoo = Yie— thiels cosy cos(ie + ar) — yely cos Oy cos oy (4.45)
—1)els COS Yo cos(tae + o) + @b%/l cos 1 sin(v1p + aq)
+¢t2z€t €08 Oy sin Py + %%2 cos Yz sin(¢ar + az)

Zy = Zu=0
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gobooog

Xon = X+ fl}mfl cos 7y; sin (1, +“oq) + 6,0, sin 0,0 cOS gy )
+iply cos Oy Sin gy + o ly cOS Yo sin (g + a2)

th = Ylh — 1_10.1%1 cos 7y; cos (e +_Q1) + éthﬁt sin By sin Yy, (4.46)
) ) —%hft 08 Oy oS Py — opla COS Yo cOS(ap + i2)
ZQh = Zlh + chft COs th )

00000000oooooooooOU0O0UOUooooD 4.13)000ooooooo
ERERN

gooodno
Xu = Uircostpyy — Vigsinyyy
Yig = Uypsingye + Vigcos gy (4.47)
Zy = Wy=0
gogoodno
th = Upcos Py — Vipsinhyy — 1 (Uresin e + Vig cos ¢re)
Ym = Uypsinyg + Vip cos iy + Y1 (Urg cos hyp — Vigsin i) (4.48)
Zin, = Wiy

Jdoddoooooooooooonoonoogogno
gooodo
X1y = Uycosibry — Vigsinabyy — Prp(Uypsinhye 4 Vig cos i)

3:/:'15 = U_w sin 41y + Vig cos thyp + Ur(Urg cos yy — Vigsinbyy) (4.49)
Zy = Wiy =0

gooodno
Xm = [:fm cos Py — Vm sin iy — ".blh(Ulé sin ¢y + Vig cos i)
Ym = Um sin ¢y + Vip cos 1y + 1, (Urg cos e — Vigsinibyy) (4.50)
Zy, = Wiy,
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O000@d14)oooooooogd

gogoodno
Uy = X2g oS Yo + 5'/24 sin gy
Voo = szz sin gy 4 Yo cos 1y
Way = Zy=0
gooodno
Uy = XQ{L COS g + Y21‘1 sin Yo + Vorthap,
Voo, = fXQh sin 1o + Yoy, cos o — Uspthay,
Won = Zop

gbobooboobooboobooboobo

gogoodno
Qze = ng CcOS g + YM sin 1o + Vzﬂ/}ze.
V% = TX% sin 1gp + Yo, cos oy — Ugpthay
Way = Zy =0

gooodo
U: oh = Xzf} cos Yo + YQh sin 1o + Vze%@
V2h = jX2h sin gy + Yop, cos oy — Ugpthap,
Won, = Zy,
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422 0O0000O0O0ODOOOOO(DoOOO)

000000000000000000000000000 (4.23)(4.27)(4.29)00
(4.33)(4.34)(4.37)(4.33) 00 0000000000000 0

my(Uye — Viehre) = —maaUsp + my Vighie + X + Xp1 + Xg1 + X

—T'sp cos Oy cos(1y — 110) (4.55)
ml(vle + Ulﬂ/}u) = —mylvle — mlew@/}w + Y +Yp1 + Yr + Yun
—Ts¢ cos Oy sin(¢hye — 1e) (4.56)
La1b1p = —Joa1010 + Zal(mylvlz + Mg Urgthig) + Ky + Kp1 + Kgy
—Tsp {ly1 sin Oy + €1 cos Oy sin(py — Y10) } (4.57)
Lt = —Joatne + 2a,my1Unedre + N + Npy 4 Ngy + Ny
+T 50 { €1 o8 Oy sin(they — 10) — Ly1 cos Oy cos(Pye — 1) b (4.58)
Loaabor = — Juaroe + 26, (MyaVar + MaaUsithoe) + Ko
—Tsp {ly28in 0y — €5 cos Oy sin(hy — o) } (4.59)
Lotoe = —Josathor + chmyzU%(ﬁze + Nua + Ny

+T 50 { L2 cOs Oy sin(they — 1Pag) — Ly2 cos Oy cos(Pyy — o) b (4.60)
mz(U21z — V2£¢24) sin(ye — ae) — mz(VM + U2e¢2£) cos(Vu — o)
= <_mm2U2€ + myaVarthar + Xpra + XW2> sin(ty — o)

- (—my2‘7ée — MigoUsgthar + Yirs + YW2> cos(w — a0) (4.61)

000 Ui, Vie, bre, 1o, doe, o0, e D00 D 0000000000000 Uy, Vag, Tee
godogoooood

000U, 00 (453)00 (4.45)(4.49) 0000000

Uy = {Uu cos b1y — Vigsinapyy — trg(Urg sin thrg + Vig cos )
+1p1ply cos vy sin(Wrg + ) 4 el oS By Sin 1y
F1oely oS o S (Wag + 1) + U201 cos vy cos(hye + ay)
420, cos By cos hrp + 1h2,lo cos Yo cos (g + a2)} COS oy
+ {Uu sin g + Viecos tig + tre(Ue cos i — Vigsinayy)
—1nely cos 71 cos(t1e + ay) — Uyely c08 By cOS Uy
—thoply cOS Yo cos(tap + o) + @%g& cos 1 sin(¥1, + aq)
+¢fe€t oS Oy sin 1y + z/'@@ 08 Yo sin(thyy + 042)} sin gy
+ Vit (4.62)
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O000D0000000000, 00000000000

Uy =

Ui cos(¥1e — tae) — Vigsin(yie — hor)

“Hihrply cos Y1 sin(1hrg + o1 — a) + hrely o Oy Sin (e — Wag) + Yaelz cos o sin g

—Urethresin(ire — 1hoe) — Vigthie cos(ie — ) + Vaethar

+1/}f£€1 cos 7y cos(typ + g — o) + &fgﬁt 08 Oy cos(thyy — 1ag) + 1@462 COS Y2 COS vy
(4.63)

0000000 Ve O

Vae =

Uesin(¥re — ¥ae) + Vig cos(yie — 1har)

—@bu& CoOs M1 COS(%@ +aoag — 7#2() - @Z;tfgt os By COS(l/)te - ¢2£) - &2%2 COS 72 COS (X2

+ U0 cos(P1e — oe) — Viethre sin(shre — 2e) — Usethag

+ipd,l cos yy sin(Yig + o — Yog) + Vil cos Oy Sin(Yye — Pog) + 13,02 cOS Yo sin
(4.64)

0000000000438 0000000000 (4.63)(4.64)00 (4.31)00000
00000007TsO

Ty = Ulg {(mg + ma2) cos Oy cos(Vy — 1hae) cos(thip — )

+(ma + my2) cos O sin (1 — Par) sin(yre — o) }
—Vig {(ma + Ma2) €08 Oy cos(thye — hag) sin(thry — o)
—(ma + my2) cos Oy sin(Pr — o) cos(thre — Yar)
b1ty cos Y1 { (M2 + Mya) €08 Oy cos(yy — har) sin(re + ar — o)
—(ma + my2) cos Oy sin(hye — ar) cos(Pre + ar — thar) }
el s Oy { (1 + Ma2) cos By cos(Pre — ae) sin (v — o)
—(ma + my2) cos Oy sin(y — o) cos(thre — Yar) }
+1)aply cos Yo { (Mg + M) cOS By cos(yy — 1ag) Sin v
—(mg + my) cos Oy sin(y — o) cos as}
(1 + M) €08 Oy cos(tbre — Pag) { —Unethre sin(vre — tae) — Vigthre cos(thre — ta0)
+Vauthg + 3,01 cos 1 cos(1e + . — 1hag)
e 08 By cOS(thue — Pnr) + Uipla cOs 72 cOS a2}
(M + Mys) €08 By sin (Ve — 1e) {Urb1e cos(Wre — ar) — Vigre sin(ibyg — o)
—Usgthay + U201 cos vy sin(thyg + g — o)
+1p2 0, cos Oy sin (1 — og) + V2,05 cos 7, sin aig }
(Mg 4 M) Ungthag 08 Oy sin (s — hag) — (mag + myz)Vze¢24 08 Oz cos (Ve — o)
— (Xu2 + Xwe) cos by cos(hy — o) — Yz + Yiva) cos Oy sin(eyy — 1)) (4.65)
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0000000000000000000 Uy, Ve, Ts, 00000000000000
0D000000000000000000000000000

Qzé = AU(:]w + BUVM + C'Uil_%lz + DU@?QK + EU@Z.):M + Iy
Vae AVUM + BvVuz + Cv?(iw + Dv?_/fze + Ev_l.bw + Fy (4.66)
Tse = AqpUye+ BrVie+ Cppi + Dpboe + Eptpy + Fp

ggoo

Ay = cos(Pre — ) , By = —sin(vie — o)

Cy = lycosysin(yg + o — o)

Dy = lycosyesinay , Ey = € cos Oy sin(iy — 1ho)

Fy = _U1£¢1€ sin(ye — o) — V1£¢1£ cos(V1e — V)
+Vaethag + U7,y cos 1 cos(vhig + o — o)
+1p2 0, c0S By coS(hyg — ag) + 2,05 COS 73 COS Aty

Ay = sin(Y — V) , By = cos(Vie — )
Cy = —fycosvycos(Pig+ ay — ay)
Dy = —lycosvyscosay , Ey = —l;cosbycos(ty — o)
Fy = Uthiecos(tbre — thar) — Vigdresin(rg — o)
—Ungthar + 3,01 cos 1 sin(thrg + g — ag)
—Hﬁfﬂt o8 Oy sin (Vg — 1oy) + ¢§452 COS Y2 sin a

Ar = (my + My2) cos Oy cos(y — o) cos(re — o)
+(ma + my2) €os Oy sin (e — o) sin(vyy — o)
Br = —(mg+ my2) cos b cos(Pu — 1h2e) sin(yie — ar)
+(ma + myz) €os O sin (1 — ar) cos(thre — Pap)
Cr = {rcosyy {(ma + mya) cos Oy cos(Py — o) sin(Pre + ar — )
—(ma + myz2) cos Oy sin(hye — ar) cos(Pre + ar — ) }
Dr = {5c087; {(ma + mys) cos Oy cos(1y — o) sin ay
—(mg + my) cos Oy sin(1yy — o) cos an}
Er = {lycos Oy {(ma + my2) cos by cos(Pue — 2e) sin(yhre — thae)
—(ma + my2) cos Oy sin(vr — ar) cos(tre — Yar) b
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Fp = (Mg + mag) cos Oy cos(tb — Do) { —Urethre sin(iry — o) — Vigthre cos(1h1p — 1)
+Varthe + Uyl cos  cos(Pre + an — o)
+¢1&2th cos Oy cos (e — Pag) + ¢§g€2 COS 7Y COS (ta }
+(ma + my2) cos Oy sin (v — o) {Urethre cos(vhre — 1hae) — Vigthresin(thre — o)
—Upithoe + @b%égl cos 1 sin(yig + g — )
_|_¢t2££t cos O sin(¢ — ar) + lb%gfz COS Y2 sin ag }
+(ma + Myo)Unptor c08 By Sin(vue — hae) — (Mo + mya) Vagthog cos By cos (e — o)
— (Xpp + Xwa) cos Oy cos(yy — 2e) — (Y + Yiva) cos Oy sin (v — )

0000(4.66)00 (4.55)~(4.61) 0000000000000 O00O0OOOOOOOO
gobbboogogbbodad

(ml + Mgl + AT’chl) Ulé + BT/chl "/16 + CT’chl,’l}.lK + DT’yccld}Qﬁ + ET’chlqz;tZ
= (m1 4+ my))Vaiethre + X1 + Xp1 + Xe1 + Xt — Fryea (4.67)

AT%s1Ule + (m1 + my1 + Bryes) Vie + CTIYCSI'lLlé + DT%sﬂl}% + ET’chﬂLtZ

= —(my + M) Urhre + Y + Yp1 + Yei + Yo — Fryea (4.68)
ATgylelé + (BTgyzl e myl) ‘./13 + (Ixxl + Jx:cl)élé + CTgyzlrlLM
+DT€yz1w2€ + ETgyzl,@Z}tE

= 2, MaUnethie + K + Kp1 + Kpy — Frly. (4.69)
_ATgmlelé - BT‘gmyl"/M + (Izzl + Jzzl - Cngyl) QLIZ - DTgmyl'&QZ - ETgmyl'(ZtE
= 26, M1 Undre + N1 + Np1t + Nr1 + N + Frly, (4.70)

(Aply.o — Avzaymys) Urg + (Bplyza — By zaymys) Vie + (Crlyzs — Cyzay,mys) i
+(Lyz2 + Jza2) P20 + (Drlyzo — Dy zgymys) Yoo + (Erlyza — By 2a,mMy2) Yu

= 26,Ma2Usthor + Kia — Frly. + Fyragymys (4.71)
—AT&WUM - BfoyQVM — CT&:;Q&M + (o2 + Joz2 — Drllyyp) 1&2@ - ET&MW
= 2G,My2Uz®20 + N2 + Nwa + Frlays (4.72)
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{Ay(ma + ma2)vs2 — Av(ma + mys) Ve } Ulé
+{Bu(mg + my2)ys2 — By (ma + my2)ye } Vie
+ {Cuy(ma + ma2)vs2 — Cv(ma + my2)ye2} 15111

gooo

+{Dy(mo + ma2)vs2 — Dy (ma 4+ my2)ye2} Yo
+{Ev )

={

(M2 + My2)Vs2 — Ev(ma + my2)ver} e
(Mg + My V21z¢2£ + Xpa + XW2}’Ys2

—{ — (ma + mx2)U2e¢213 + Yo + YW2}%2
—Fy(mao + mg2)vs2 + Fy(ma + my2)Veo

Yeer = €080y cos(Py — Yre)  Vest = 08 Oy sin(hye — Yur)

by = Lysinby + L1 cos Oy sin(yy — 1e)

loyr = L1 o8Oy sin(y — 1g) — Ly1 cos Oy cos(V — Y10)
lyso = Lyopsinby — Ll cos Oy sin(ty — o)

loya = L2008 Oy sin(yy — Pag) — Lyg cos Oy cos(1V — 1a0)
Ys2 = sin(w — o) , Yeo = cos(Pr — Yayr)
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423 0O00O0O0O0ODOOOOO(DoOOO)

00000000000000000000000000000 (4.26)(4.28)(4.30)
0 (4.35)(4.36)(4.39)0000000000000000

mir, = —C’ flh + A( lc cosu}1 Fl(;) sinwy)
~TsnVeer + OnTseVser + (Ve — V1n) TseVest (4.74)
M, = — A5 i — By — C%)mn — AL éu, — B dun — CLY o
—Aégdlh — B;é)zblh + A(F2(Cl) coswy — F2(sl) sinwy)
~TsnYest + O TseVss1 — (Vin — 1n) TseVeer (4.75)
miGip = _A(l)élh — B Gn — O G — ARGy, — B0y, — O 0u,
+A( - ) cos wy — Fés) sinwy) + Tgp, sin O0 + 041, Tsy cos Oy (4.76)
m1¢1h = —A44 <Z51h - B44 ¢1h - 044 P1h — 42 771h - B42 mn — 042 Mh
—A46 Dip — B46 Yup + A(F4C cosw] — F45 sin wy)
—Tsnlyz1 — O Tselyy — (Ven — Y1) TselaVear (4.77)
Ly b, = —AR b1 — Big b1 — O 01 — AL G — BE G — C5)
—|—A(F5(i) coswy — Fé;) sinw?) 4 Tsploz1 + O Tsel,.,
— (W — 1n) Tselaest (4.78)
Lty = —ASgdu, — Bl — é(ls)%h — Al b1 — B b
— AW i, — BS) in + A(FY coswt — FY sinw?)
+Tsnloyr — O Tselyy, + (¢th — 1n) Tselyys (4.79)
MaCon = —A(Q)ééh — B Con — CF) o — AR oy, — B b, — O30y,
+A( a2 ) cos Wy — Fés) sinwj) — Tsp sin Oy — 0, Tsp cos Oy (4.80)
Luaadon = — A o — B don — C13 dan — AL il — B3 in — C13man
—Az(é)lﬁgh - Bg)%h + A(Fﬁ) coswy — Fg) sin wy)
—Tsnlyz2 — 0T el + (Vun — Vo) Tl Veer (4.81)
Lo = — A o — B2 bon — C5 0o — AZ) Gy — BE) Con — CF) Gon
+A(F5(02) coswy — F5(2) sinws) 4 Tsplazs + 0 Tsil .

S

+(in — Yan) TselzaVes2 (4.82)
Lothy, = —Aé?%h — B3y, — é?%h — AG) bon — B don

—Ag) 62 Tl2h — B((SQ Ton + A( ) coswh — Fész) sinwy)

+Tsnluy2 — chTsﬂzyQ (%Uth — %h)Tszf;;,g (4.83)
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m2’732é2h — MaYe2ll2n
= { — Cﬁ)fzh -+ A(Fl(f) coswy — Fl(? sin w;>}")/32

ERERN

Vscl

yz1

gmzl

rzl

(S

zyl

"

N

zyl

~

yz2
ngQ

rz2

VYee2
l

14

’
Y2
1"

Y2

—{ - AR fian, — B8t — O3 o, — AL bor, — B o, — C57 o

—Aé%)@ﬁzh — Béé%% + A(FZ(CQ) coswy — FQ(SQ) sin w;)}'ycg

+(tn — Yan) (Fraevea + Fyarysa) (4.84)

Sin Oy cos(Pre — P1e) 5 Yss1 = sin Oy sin(y — 1)
Uy1 08 Oy — L1 8in Oy sin (e — Yr10)

L1 SIn Oy + €1 €08 Oy cos(1hy — 110)

{41 €08 Oy — L1 8in Oy cos(Yye — Y1)

1 8in Oy sin (g — P1e) — Ly sin Oy cos(y — 1g)
y1 €08 Oy cos(Pe — 1p) + Ly cos Oy sin(yy — Y10)
Ly 08 Oy + L2 8in Oy sin (g — or)

Cxo 80 O — L5 cO8 Oy cOS (e — 1ap)

Uyo €08 Oyp + L5 8i0 Oy cOS(1y — o)

cos O cos(Yue — P20)  Yes2 = 08 Oy sin(thye — o)
Uyo sin Oy sin (g — 1og) — Lyo sin by cos(Py — o)
ya €08 By cOS(1y — ap) + Ly €08 Oy sin (1 — 1ay)

00O Tsy, Faoe, Fyee 00 000000000000000000000000000
puoboobbobobooubobod flh,nlﬁaCm,¢1h,91h,¢1h,¢2h,92h,¢2h,9th,@/}th
00000000000000000 &, i, éan, Te, 00000000000

000&,00(454)00 (4.46)(4.50) 000000000 (4.25)00000000
000000000000000000000000000

op, = {élh oS Y1y — Ty Sinrg + Prply cos 1 sin(¢re + 1)

—Hﬁghég cos Yo sin(1gy + an) + éthft sin 6y, cos Yy + @Z}thét cos 0, sin Qm} cOS gy

+ {fm Sin g 4 fitp cos Py — Piply cosyy cos(ry + ay)

—&zhﬁg oS Yo cos (g + ag) + éthﬁt sin By sin Yy — &thﬁt cos By cos wtg} Sin gy

(4.85)
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000000000 &y,

th = glh COS(ww - wze) — Thh Sin(wu - w%) + ¢1h€1 cos M Sin(¢1e +a; — wze)
g o €08 Y2 SI g + Oyl 50 Oy cO8 (e — ag) + Vienly cOS Opg sin(thyy — o)
(4.86)

0000000000000, 0

fon = Epsin(iig — ag) + fin cos(re — Wae) — Pinly cos 1 cos(Pry + ar — Py)
—1Papla COS Yo COS (g + Oy ly sin Oy sin(Vre — o) — Yyl o8 By cos(Phe — o)
(4.87)

00000, 0
Con = Cun + Ounly cos by (4.88)
DDDDDDDDDDTghDDDDDDDD(4.39)DD (4.32)DDDDDDDDDDDD
Tsn = MoYeerbon + (Mo + AS) Vyesaiion — (my + Afo,?) sin 0y Con
+ A Yesadon — A;(;? sin 00y, + A§26)768277Z)'2h
+B§§)%s2ﬁ2h — Bé? sin O Cop, + Béi)%ﬁ@h - Bé? sin 0y00oy, + Béé)%sﬂ/&h
+08)%c2€2h + D Yesamon — C;?(,? sin Oy Con + Cﬁ)%sﬂbh — ng? sin 0y,0op,
— (FaoeVes2 — Fyarvee2) Yon + (FroeVsez + Fyaeyss2) Oun
+ (Fm2e%s2 - Fy2e%c2) Y, — %0214(F1(3) COos w;‘ - Ff? sin w;)
e AP coswh — Y sinwsy) + sin Oy A(F coswi — Fi2 sinw})
(4.89)
DDDDDDDD(4.86)(4.87)DDDDDDDDDDDDDDDDDDDDDDD
on = Aéélh + Betjhin + ngz;lh + ngZh + Egéth + Fg”&th (4.90)
ion = Ap&in + Byihn + Cpoin + Dby, + Epbi + Foabyy, (4.91)
goono
A§ = COS(wle - ¢2£) ) B§ = - Sin(¢1e - wze)

Ce = {licosysin(iy +ar — o) , De = lycosyesinay
Ee = lysinfycos(y — o) , Fe = £y cos Oy sin(thyy — 1ay)

A, = sin(Yy —y) , By = cos(ir — o)
C, = —licosvycos(P+ar —Py) , D, = —Llscos7y;cos
E, = lsin€ysin(y — o) , F, = —L,cos by cos(¢Pu — o)
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(4.88)(4.90)(4.91) 00 (4.89)0000000000000000 Te, 0000000
oooo

Tsy, = {mﬂcczAg + (mg + Ag))%sw‘ln}ém + {m2%c2Bg + (mg + Aé?)%san}ﬁlh
—(ma + Aé?) sin etéélh + {mﬂccQCg + (ma + Ag))%ﬂc'n}%h + Agi)%s2§52h
—Aé? sin Qteé% + {Age)%g + MoYec2 De + (Mo + A§22))%32Dn}1l}2h
+{ = (m2+ ALY, sin Oy cos Oy + mayee Be 4 (ma + Ag))%SQEn}éth
+{m2’ch2F§ + (ma2 + Ag))%stn}%bth
B3 esation — By s OyCon, + B Yesadon — B sin ueon + B yesztbon
O abon + O3 Yeson — O3 sin yCon + C53 Yesadon — Cs2) sin b0,
— (FaoeVes2 — Fyorveea) Yon + (FaoeVsca + Fyaeyss2) Oun + (FroeYes2 — FyaeVee2) Vin
—'ycch(Fl(f) coswsy — Fl(s) sinwy) — VCSQA(FQ(C) coswsy — FQ(S) sinwy)
+ sin O A(F coswi — F2 sinw?) (4.92)

000, 00000000000000

Tsn = Apéip + Briin + CorCin + Dythy, + Epdan + Frbop, + Gotbay,
FH by, + Tpthy + T (4.93)

goboboooon

Ap = myYerde + (ma+ A Ve Ay | By = movee Be + (ma + AS) )70 B,

Cép = —(mg+ Aé?) sin @y D:‘p = MaYee2Ce + (Mg + Aé?)%sz(?n ) E} = Aéi)%ﬂ
F:lp = —Ag? sinf, G/T = Agﬁ)%sz + MaYeer De + (Mo + Ag?)%sQDn

H,ip = —(ma+ Aé?)ét sin 6y cos Oy + maYeca Be + (Mo + Ag))%szEn

Ir = myYeFe + (mz + Aézg))%gF

~

Jp = B Vesation — By sinfyCon + B24 Yesahon — B 0 0,8y, + B Yesrthon
FO Dy eabon + O3 esaton — Cs5) sin OyCon + Cs3 Yesadon — Csz) sin byBay,

(sze%SQ — EFyparvee2) Yon + (Fuoryse2 + F, 25%52) Our, + (Fro2eVes2 — Fy2evee2) Y
—%CQA( 2 ) cos wy — Fl(g) sinwy) — %SQA( A2 ) cos wy — FQ(SQ) sinwy)

+ sin thA( 42 ) cos wy — F?g) sinwy)
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(4.90)(4.91)(4.93) 00 (4.74)~(4.84)0000000000000000000000
00000D000000000

(m1 + A/T%cl)glh + B/T%dﬁlh + C;“'chlélh + D/T%cﬂzm
+E;“ryccl¢2h + F’Z/“’YCCle2h + G/T’chll/JQh + H;"/YCcleth + ]’;’ryccll/}th
= A( 1C ) cos wy — Fl(j) sinwy) — C’ﬁ)glh

—JT%d + 0inTsevser + (UVen — Uin) TseYest (4.94)

ApYes&in + (my + A%) + Byes1)iiin + CpyesiCun + A;}l)élh + (A%) + DyYest )i
+E/T%s1<52h + Fesifon + Gryesithon + HyYes1Oun + Ipyesi Ui
= A( 2c ) cos wy — F2(sl) sinwy) — B§2 Mh — 02(2 Mh — éi)élh - 02(11;)¢1h - Béé)%blh
—JpVest + O TseVsst — (Cen — 1n) TseVeer (4.95)
— A sin Oyéyy, — By sin iy, + (my + A:%) — Cpsinby)Chp + Aé?élh — D7 sin Oyt
- rip sin Gtgégh — F} sin QtEéQh - GIT sin thzﬂ% - HIT sin Gwéth - [/T sin Htgzl}th
= A(FY) coswi — Fy) sinwy) — B¢ — C'¢in — B 0w, — C55) 01,

+JT sin 0y + 04, Tsp cos Oy (496)

A Eyzlglh + (A42 + B Eyzl)nlh + C gylelh + ( zxl + A )Q.b.lh + (Az(llﬁ) + D;“Kyzl)d}lh
+E EyzquQh + F 6y2102h + GTgszQ;DQh + H Eyzleth + ] gyzlqzbth
= A(F}) coswi — FyY sinw?}) — BS)du, — Ciidun — B i — Clylmn — Big v

JTEZ/Z1 - 6)HZ,'TS'KKQJ,Z'I (wth - ¢1h)TSZ€z1/yccl (497)

— Aplyr&rn — Bplazaiing + (A — Cpl1)Cin + (Iyyy + A55 V015 — Dploaithin
Em@hF@w%4wmm—m@@F1@Mh
= AFY coswt — FYsinw?) — BWay, — V6, — BYE, — ce
Il + 9thTS£€x/Z1 — (Yun — V1) Tsel 1 Yes1 (4.98)

— A, g:}cylglh + ( Bszyl)Thh — CT zy1C1h + A64 <Z51h + (Lo + A¢(316) D/T&;m)%h
~F, fxy1¢2h — F, &yl@zh — Gplayithon — HyployiOum — I7layithun
= A(FGC coswy — Feg) sinwy) — Béé)"éblh - C(gé)wlh - Bé(;zll)élh - Bf(s?fhh
+dplayt = 0 Tselays + (Wen — Y1) Tselyy (4.99)
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A/T sin Htgélh + B/T sin Oyfin, + (Mo + A%) + C'/T sin Gw)é‘lh
+D/T sin Oty + EIT sin O o + (Aé? + F} sin etg)égh + G/T sin Htﬂﬁgh
+{ my + Aé?)ﬁt cos Oy + H/T sin Gtg}éth + IIT sin By,
= A(F coswy — Fy? sinwj) — B Gon — O Gan — B 0y, — C2 0,
—JT sin Oy — 04, T cos Oy (4.100)

Aplysin + (By A + Brly)iin + (A AR + Crlyn)Cun + (Cy AR + Diplyn)
+(Lnaz + AS) + Eplyen)don + Frlysalon, + (AR + DyAG) + Gty
+(Ey AL + Hiply)O + (F A + 1, «%ﬂ)ll;th
= A( 4c ) cos wy — F4(§) sinws) — 44 ¢2h - 044 Pan — 42)772h - 042 T2n — B46 1/12h
_JTgyzQ chTsefyzg (Ven, — Vo) Tsel 22 Vee2 (4.101)

—Aplosbin — Bploasiin + (AS) — Cplezs)Cin — Dplezating — Eqlazaton
+(Iyyo + Agz — Fplzn)fon — Gipllasstion + (A5 € €08 61 = Hylyo)fi, — Iplozoth,
= A( 5C ) cos wy — Fég) sinwj) — Bé?égh — Cé?@gh - Bé?,)ééh - C’é?{gh
+Jplasz + O Tsel .y + (Vtn — Von) TselaoVeso (4.102)
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—|—{m2752D£ — (m2 + Ag22))702D77 - Ag%)%ﬁ}w%
Ee — Ay By ) Fe — ALy M)
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—{A(F cosws — Fy sinw}) — B non — C3man — BE) éan
~C8) dor, — BS; %h}%z + (Ven — VYon) (FraeVez + Fyaevs2) (4.104)
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Table 5.1: Experimental conditions of tow and towed ships

Tow ship Towed ship

symbol | Fullscale ‘ Model | Fullscale ‘ Model
KG (m) 1.24 0.124 1.73 0.173
GM (m) 1.99 0.199 0.19 0.019
Ty (m) 1.19 2.36
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Fig. 5.1: 6-DOF measurement system
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Fig. 5.2: Actual condition of the experiment in regular waves (y=0deg)
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Fig. 5.3: Comparison of test results between M.H.I and H.U in regular waves (x=0deg)
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Fig. 5.4: Comparison of test results of tow ship in regular waves (xy=0deg)
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Fig. 5.5: Comparison of test results of towed ship in regular waves (xy=0deg)

71




gsobobbobodbuooboobedbooboobonon

5.2.3 00 (x=30deg) D0 O000DOODOOO

O000Figh600 Figh.7O0000 (x=30deg) 000D O0ODODDODODOODODOOO
gogooobobbbbbodooobobobbbbboooboooooaobobb
clbuoboobOobobOobboobboobOrFgs6b0bObDbOODOODOn
guodddddooooodooooooooooboobbbbooooaooooon
x=30degU O OODOODOOODOODOOOODOODOOODOODOODOODOODO
ggobbbbbodoooooobbbbbotdswayUUd yawD ODOODOo0oogn
gobbboogbbbooooboobuooobobbooobboboooobboao
gobbbooodbbbuooobobbooobbboooobbboodgbobboo
goboobobOOobOoobooboobbo0oobodrollbObOOODOODOODOO
gobbboooobbbuooobbbooobbbboooobbboooobbod
gobbbuoooobbbooooboobbbuooobobbboooonoobobooo
gboboboooobboboboooboboboboooboboboooboobon
gooobooooboboboobooboooobooboboboooboOooOgn rolld
gbgobobboobooboobobooboobobboboobooboob
gobbbooogbbobuoooobobboooobboooobbboogooboo
Ob0oboboboboooboobobd swayODOyvawOD OO rollDOOODOODOO
gooogboboboooobbboooon

O00Fghr0obobboboobooooobobobobobooooobon
gobbobooodgbbbooodgbbbuooobbbuoooobboooobboao
gboboooobdpitch0b OO O0O0OO0bOobOOoobobOooobobOobLon
gobbbooogbbbuoobobbuooobbbuoooobboooobboao
gogbbbuoogobobuoooobbbooobbobuooobobobooooboboad
gobbobooodgbbbuoobobboooobboooobbbuoogobboo
gobbbooogboboboooobbooobobbboooobboooobboboo
gobbooodgbbbuoobobbbooodobbbuoooobbbooobbog
gobbobuoooobbboogobbboobuooobobbboooonoobobogo
gogbbobuooobobbooodgbobboooobbboooob

72



gsobobbobodbuooboobedbooboobonon

HEAVE AMP. (TO

SURGE AMP. (TOW SHIP)

SWAY AMP. (TOW SHIP)

W SHIP)

0.6 T T 127+ — T 1.5 — T T
< Exp. (singlef ship motion) r < Exp. (singlef ship motion) [ < Exp. (single ship motion)
x Exp. (towing motion) 1 L x Exp. (towing motion) r X Exp. (towing motion)
0.4 0.8 1 M
L ol ¢
F x o P x
y 8 .
0.2 0.4 0.5
L o> r
] I E . i °
Q <o r
i3 r <>? X L
0 0.5 1 15 2 0 0.5 1 15 0 0.5 15
AL, AL, AL,
4 ROLL AMP. (TOW SHIP) 12 PITCH AMP. (TOW SHIP) 09 YAW AMP. (TOW SHIP)
< Exp. (single ship motion) : r L <& Exp. (single| ship motion)
x Exp. (towing motion) g % Exp. (towing motion)
] i EL I
3 L
1 os & 0.6
< 1 < r <
) 1Y Y o7
s 2 = %
g 1 | = T
1 0.4 0.3
y ]
1 x ] [ @ <& Exp. (single ship motion) t @ @
o> % ] L X Exp. (tow[ng motion) @
] t R
é 1 L
0 L . . . . . ob— . . . . . . 0 . . . . .
0.5 1 15 2 0.5 1 15 0.5 15
AL, AL, AL,
Fig. 5.6: Comparison of test results of tow ship in regular waves (xy=30deg)
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Fig. 5.7: Comparison of test results of towed ship in regular waves (xy=30deg)
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Fig. 5.8: Comparison of test results of tow ship in regular waves (xy=90deg)
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Fig. 5.9: Comparison of test results of towed ship in regular waves (xy=90deg)
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Table 5.2: Hydrodynamic derivatives of towed ship

symbol value H symbol | value
X@ﬁ? -0.0248 Yﬁ@r2 1.5925

X, o -0.0105 Ny 0.0425
_x%r27-ngﬂ -0.1142 Q¢2 -0.0427
/ Yo / 0.3170 N@ﬁﬁZ -0.0968
Y9 —myy | 0.1087 | Ngg., | -0.7905
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Table 5.3: Other coefficients of tow and towed ships

’ symbol ‘ value H symbol ‘ value
m, | 0.0077 || k..1/L1 0.277
my, | 01730 || kaa1/Bi 0.325
J... 10.0076 || k..o/Lo 0.238
Joo1 10.0004 || kueo/Bo 0.305
my, | 0.0044 || 2q,/d 0.253
my, | 01299 || zg,/do -0.061
J..o 00077 | N ]0.0140 (1/deg)
J. 100001 ] NP [0.0129 (1/deg)
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Fig. 5.10: Comparison of drift force coefficients of tow and towed ships in regular waves
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Fig. 5.11: Comparison of motion amplitudes of tow ship (validation of NSM)
06 SURGE AMP. (TOWED SHIP) ) SWAY AMP. (TOWED SHIP) HEAVE AMP. (TOWED SHIP)
. T — T — T T 1. T — T — T — T 1.5 — T T — T
O Exp. (x=0deg) L F 1
& Exp. (x=30deg) SN 4
[ A Exp. (x=90deg) 0 1 [ L i
— Cal. (x=0deg) r L A ]
— Cal. (x=30¢leg) /‘A/73 2] &

0.4 — Cal. (x=90{leg) J 0.8 1 ]
s aurg s | ]
—= L 41 = L = — O
M_‘;‘ @ EN I iy Eﬁ L ///;/ 4

O O Exp} (x=0deg)
02 /{ 0.4 0'5[ / © Expl (x=30deg) | |
r — ] A Exp} (x=90deg)
LA i L 5 —< [ — Cal/(x=0deg) 1
N N r — Cal|(x=30deg) 1
A [ O t — Cal|(x=90deg) 1
o I R I obefprrm. g gl @@ 0 ‘ i I R
0.5 1 15 2 05 1 15 0.5 1 15 2
AL, AL, AL,
4 ROLL AMP. (TOWED SHIP) 12 PITCH AMP. (TOWED SHIP) 00 YAW AMP. (TOWED SHIP)
: : b O Exp. (x=0deg)
L | [ <& Exp. (x=30deg) 1
L i [ | —/—H A Exp. (x=90deg)
3 t [m] [ — Cal. (x=0dég) 1
F 4 — & q — Cal. (x=30dleg)
[ | 0.8 0.6 — Cal. (x=90dleg)
s 2 =t =
N S = T 1
[ t1 04 03
! r 5 ¢ ]
i A ] T
r R a7 8 o J
r I I S 1 | A A
Oﬁé ,%, — ol . @, .m 0 Erarerara S 0 1 s = i e - s B
05 1 15 2 1 15 2 0.5 1 15 2
AL, AL, AL,

Fig. 5.12: Comparison of motion amplitudes of towed ship (validation of NSM)
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Fig. 5.13: Comparison of time histories of tow ship
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Fig. 5.14: Comparison of time histories of towed ship motions (xy=0deg, \/Ls=1.4)
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Fig. 5.15: Comparison of time histories of tow ship motions (x=30deg, \/Ls=1.4)
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Fig. 5.16: Comparison of time histories of towed ship motions (xy=30deg, \/Ls=1.4)
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Fig. 5.17: Comparison of time histories of tow ship motions (x=90deg, \/Lo=1.4)
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Fig. 5.18: Comparison of time histories of towed ship motions (x=90deg, \/Ls=1.4)
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Fig. 5.19: Comparison of motion amplitudes of tow ship in regular waves (y=0deg)
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Fig. 5.21: Comparison of motion amplitudes of tow ship in regular waves (x=30deg)
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Fig. 5.22: Comparison of motion amplitudes of towed ship in regular waves (xy=30deg)

91



gsobobbobodbuooboobedbooboobonon

06 SURGE AMP. (TOW SHIP) ) SWAY AMP. (TOW SHIP) HEAVE AMP. (TOW SHIP)
. T T T T 1. T T T T 1.5 T T T
A Exp. (single ship motion) r * q [
L * Exp. (towing motion) i L B [
— Cal. (singlg ship motion) r A
---- Cal. (towing motion) r b L N A
0.4 0.8 1 Z B [ 5 et
F F o 1e [
(SN 4 = |
0.2 0.4 0.5
A Exp. (single ship motion) | [ A Exp. (single ship motion)
L 2 i L * Exp. (towing motion) i [ * Exp. (towing motion)
A 4% — Cal. (singl¢ ship motion) — Cal. (single ship motion)
A * A X r ---- Cal. (towirjg motion) 7 F ---- Cal. (towirjg motion)
G n PR hasshaschandl L L L L 0 L L L L L L L L L L L L L o L L L L L L L - L L L L
0.5 1 15 2 0.5 1 15 2 0.5 1 15 2
AL, AL, AL,
4 ROLL AMP. (TOW SHIP) 12 PITCH AMP. (TOW SHIP) 09 YAW AMP. (TOW SHIP)
: : r A Exp. (single ship motion) 1 L A Exp. (single ship motion)
L 4 L * Exp. (towing motion) | * Exp. (towirlg motion)
r q — Cal. (single ship motion) L — Cal. (singlg ship motion)
3 r ---- Cal. (towing motion) 1 ---- Cal. (towing motion)
I 1 os 0.6
< [ ] b3 [ ] ’
S 2 = 13
s [ 1 |1 1= 7
r k. 1 0.4 0.3
[ iy A~ N A
1 L ]
E 4 [ *
L i F 4 A
r 1 4 [ 4 A L N £
ot~ L L L L L L o= i et S iy
0.5 1 15 2 . 1 . 0.5 1 15 2
AL, AL, AL,

Fig. 5.23: Comparison of motion amplitudes of tow ship in regular waves (xy=90deg)
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Fig. 5.24: Comparison of motion amplitudes of towed ship in regular waves (y=90deg)
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Fig. 6.1: Turning trajectories (§==+10deg, £20deg, £35deg)

Table 6.1: Advances and tactical diameters

| 6 [|Ap/L|Dr/L| 6 | Ap/L|Dr/L]
-10deg | 3.97 4.74 || +10deg | 4.43 5.11
-20deg | 3.19 | 3.15 | +20deg | 3.44 | 3.30
-35deg | 2.74 | 1.91 | +35deg | 2.83 | 1.96
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Table 6.2: 1st and 2nd overshoot angles

| 0/¢ |1stOVA | 2ndOVA || 6/¢ [ 1stOVA [ 2ndOV A |

-10/10 | -37.3deg | 29.9deg | +10/10 | 32.7deg | -32.5deg
-20/20 | -41.6deg | 38.3deg || +20/20 | 38.7deg | -37.8deg

Ub000ZigzagODOODODOODOODOODOOO

10/10Z2  -------- -10/10Z

—— 20/20Z  -------- -20/20Z
20— . . :

'
'
.
'
1
-
-
|
\
“
)
'
"

. .
<
’ ~
’ kN
, N
¢ \
, .
K \
. \
. 5
X b
' )
. /
L ;
,
% A
A} ’
. ,
N ,
\ .
. ,
N ,
.|
o |
<
.
T
.
\ /

0

‘4 -2 0 2 4
Y/L

Fig. 6.4: Trajectories of £10/10Z and 4+20/20Z tests

X/L

109



